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g 4 15,900(51%) 14,469(48.8%) 14,499(47 .4%)
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T = 20194 20204 20214

Al 59,170 61,612 61,777

o 4 32,854(55.5%) 34,214(55.5%) 34,229(55.4%)
g 4 26,316(44.5%) 27,398(44.5%) 27,548(44.6%)

HSU 2+ 65MI01a Q=

O A23T (o9 ;o)
2 2019 20204 20214
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of 2,106(73.4%) 1,881(71.3%) 1,992(72. 1%)
SaRE 765(26.6%) 759(28.8%) 771(27.9%)
HEMET SO UT2AAMY HO ZOIK2
O oane (25l : worg)
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72 = 20194 20204 20214
p| 15,818 15,871 15,575
o A 6.617(41.8%) 6.652(41.9%) 6.528(41.9%)
G A 9,201(58.2%) 9,219(58. 1%) 9,047(58. 1%)
*SO2T 2l S= Zojol
O ArE =4l Xt CEREE
== 2019 20204 20214
A 577 460 190
o A 45(7.8%) 70(15.2%) 40(21.1%)
G A 532(92.2%) 390(84.8%) 150(78.9%)
KEHAHIIE S KA
O H&=E (sl WD
2 20194 20204 20214
A 3,347 3,509 4,023
o A 261(7.8%) 534(15.2%) 847(21.1%)
oA 3,086(92.2%) 2,975(84.8%) 3,176(78.9%)
2020 MKl = ZoHH ) 2021E 2 © 0l &F
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T = 20194 20204 20214
Al 289 299 311
of 4 18(6.2%) 18(6%) 18(5.8%)
g 4 271(93.8%) 281(94%) 293(94.2%)
X2 S=& HIV/AIDS 2ol
O At ==3dll At (o9 @ o)
T = 20194 20204 20214
p 225 202 217
of & 14(6.2%) 14(6.3%) 13(6%)
g 4 211(93.8%) 208(93.7%) 204(94%)
®olZHl X g2 2gel
O H&=E (sl WD
- 2 20194 20204 20214
5] 180 211 278
o & 11(6.2%) 13(6.3%) 17(6%)
g 4 169(93.8%) 197(93.7%) 261(94%)
¥2020@ M Al= ZBotH, 20213 2 S =0l &
0 825 Aol
Salltet HIV/AIDS 282 == E40l A0l Hidh 2ot 2=H K& GleEsS 2= G40l HE20 X3
(2020 Al HIV/AIDS A& : A 1,068, =X 935%, GIX 81Y)
O &8%sH
AUSH(4dUNE) 20204 & H 20219 =3 X 20229 = HX
HIV/AIDS 2tg el XI&
1,0154A 950 90024
(HIV/AIDS 280l 24| XI2)
O d8s JIis
HIV/AIDS 2t o0l Chioll 88 2 gle A4Y 2 2SHl XNIAS Sot0 R A28 afe &2 g&0 J10
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